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For instance, that there is less than a K’Baytzoh food, etc.

Overview

The &3 explained that s'®27 query was in a case where there was less than a 77¥°22
food in the Xnv N2 and this n°12 of 717N, which he threw (on nNaw) into the RXnv N3,
in combination with the food already there, equals a 77%°25. The query is since it is
77vxn regarding RNV (the 72170 becomes Xnw) perhaps he is also 211 for naw. Our
mooIN explains why it was necessary for X271 to mention the details of 72170 ,p71 and
X noa.!

- 31NN NP SN 21 RIYNT 2pAT 0P 59097 PNYS 13929 9PIN
The 5" explains that the reason X217 mentions ?97 (he threw it), for now the 211
naw and the becoming X»v happen simultaneously -

= 13T 1Y NAY PIYY 39NN NI

For regarding naw, he is not 2917 for 7701577 until it comes to a rest on the mno 0°71x
%207 -
- 597U 223 HY NNIN NOPA 513299 ) TIN (x,0 97 wn) NISIAN P93 9INT

As X217 ruled in 821277 P99 that according to the 3129 a thrown object even if it is

within three o°15v of the ground, nevertheless it requires that it rest on something

in order to be 2717 -
= 7NAY 0N NIIN /) TIN *NN 91 0919 YaN

However if he carries it in, as soon as it comes within three o°rov, there is the

Naw MoK -
= 91 21N PN KDY GI08DT 1Y RID NNV YIDIN)

However the ;8212 790K is not in effect until they actually combine and touch

!'See previous naw 121 °k 7"7 'oIn. See ‘Thinking it over’.
2 The >" is explaining why X271 asked his query in a case of P71 and not in a case where he carried it into the X0 n»a
and placed it on the 7¥°237% NI PO,
3 See later on the "2 Ty that 1°NX Xp >777 712 is a requirement for saying Naw Iy 207 AR 1PIV2 AI0¥ATA.
4 Generally there is a rule that if something is within three onov (of the ground) it is considered 7127 (attached) to the
ground. Nevertheless regarding the 2111 of naw we require a proper 17117 that the item being transported actually rests
on something (no matter how small).
5> These are the 13127 who argue with ¥, who maintains *»7 nnaw n3 709p (if something is hovering in the airspace
it is considered as if it is at rest in that domain).
¢ Therefore there is no 211 for Naw until it comes to a rest and touches the other 7231% when it is IXM? 770Xy, so the
7RI and NAw 70X are simultaneous, therefore there can be the 8720 that Naw Pav» "m1 271 IRML PIVY 9IVIATA.
7 The item being carried is in the hand of the carrier, as soon as he begins to put it down and it is within three onov
(of the other food) it is considered a proper 7137 (since it is [at rest] in his hand and not in the airspace).
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each other, so X710 70°X1 NAW MO°X are not simultaneous.® This explains why x27

mentions throwing. mdo1n will now explain why X327 mentions (572170) n12.
= N2 5’191 /NS JAN PANRNIVA ITIIND 9I1DINR NIINT TN129990 591D VPI XPIT

And X211 specifically mentions that he threw a 7219n 013, for by a n°1> there is a

prohibition to eat it 78213, however not by less than a n>2. That is why he mentions

a n°’12. Now oo will explain why he mentions 7171 -
= ANNIVA ITIINT 9IDIN PNRT 1192 PN N1 19)

And similarly he did not mention a n33 of 3917 (instead of a 7m17n n°1d), for since

there is no "9°K to eat NPV PN -
- LAY Py 99080 ARPIV 1IPY GI08NT 195 M9 THU Y

It is not applicable to say since it is Naw PIYH HWIR IRPIW PIYH VIR,

mooin asks:
= DT INNN N12IIN NI NIV NI 9IRN ON)

And if you will say, why is a 72yn n°2 different from a 72170 nsy sxm -
= (3,5 97 M0 DIYNA NINTI ZAYY RIN XD ANV 119N NN
For regarding ixm»w 772190, there is only an 7wy for eating it, as is evident in 79
B -
= 137219 19N NNNY NNDIVA NYIINNT
That whoever eats 72170 which is X»W, he does not receive nyp»» (for there is no x>

mwyn which prohibits one from eating 7xnv 91N, '* so therefore -
= (x,79 891) 1IND )2 NON MYV I8NT JINI 799 19 NP NN 23 N1 I8N

8 When the naw M10X is to take place, which is when the item is within three o’nov (and before it touched the other
7"223X) there was no 717X for ARV, SO we cannot say NIW 1°I¥2 N1 22 ARMY PIvH 7u¥nTy, for at that point when
there is the possibility for naw Mo°x, there is no 7xmw at all. [When eventually, there is the nXn, the 79877 of Naw has
already ended, and he cannot be liable for the past, when there was no fx»n.]
 mooin will explain why the query needed to be by a im1n n°13; why could it not be by a 7211 n°ran min® which when
combined with the other 1223 will be a 7¥°25. We know that 1711 can also be nxmv 22pn, so the query would be the
same; since it is NAW PIV5 "1 271 ARAW PIVY A0EH; why mention a n°12 of 717N,
10 7m7n which became X»0 needs to be burnt; it is prohibited to eat it. See later in this mpmn (footnote # 12).
' The reasoning behind this 27" is that since this 7170 013 is so important, for it can make an 7xmY MO, therefore
it is also important regarding the 701571 M0°R for naw. However, this is (only) true if the 7Xn1W MO°X is a serious one,
where one is forbidden to eat this 7xmw, however if it is (less than a n°r3, or) 1711 where there is no 0K to eat it, so
(even though it becomes &nv, nevertheless) nothing important happened here since there is no 72°o8 M.
12 The nwy Mo°x for eating 7x»w 717N is derived from the 7109 (in 23,0 [AR1] @°727) which states 2w ?IRN TIWW2
Y7 Mvn (regarding PwIPIAT 22109, which may be eaten X 02) and another (1°,2° aw) P05 which states 8% 7910 RS
"3 77 wyn w3, from which we derive that wwa which T permitted by PwIpmn 2109 (to eat nX»w31) is not
permitted for the Twwa of 31 7237 "wyn (which includes 7n17n).
13 This is in contrast to one who eats 72170 while the person is X0 where there is a X7 and he is 2°»w >72 AR 270
14 If there would be a mwyn X9, then there would be a difference between a n°r3 [where he receives n1p], and a >¥n
not [where it is 0" MOR, but there is no NPYn]. However now that there is no 7wyn X9, there is no difference between
a 1 and a n°1 °xm, both are n"in MoK, but no Mpon.
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Since also regarding a nst 531 we have established the ruling like >'' that a half-

WO IS FIINT I MON, so what difference is there between a n°t and a n°1 %1 of XML 71N?
Why, therefore did 27 ask his query specifically by a n°13, and not by a n°1 >xn.

N1D0IN answers:
- DY 593 1YY MPYY NYY NN 15T 590Y 590 NN N 0PN Y11 9MY Y

And one can say, that (even though by nxnv 771170 there is no perceptible difference
between a n°t and a n°1 °¥17), nonetheless a N> is more severe, since a n° is the
universal 71°w for which one receives np»» everywhere.

MooIN now explains why X271 mentions a XY n°2:
= XD 9NV 12D HaN NIV N7 XN

And X211 specifically mentions a 8% n°2, but regarding a 97w n°2 there is no query -
= 159990 9% YUY MPYY PYNT 2) Uy 4N

Even though a n°12 is important, in the sense that a non-1712 who eats this 7170

will receive mpvn, nevertheless the nro -
2T NN 19995 HY N2 XD 1791 MOINT 1999 HINIM MHND2 2PWN XY 9N DIVN

Is not considered important because of this, if it is less that a na31132, since this
prohibition to non-2°1712 is not a result of this carrying.

Summary
The query of X237 is valid only in a case where he threw a n°1> of 11170 into a X»v N2.

Thinking it over
noon previously!” asked, why did X327 mention X»u n°21 ;7m0 ,par. Why did not
nooIN give the answers he mentions here?'

1S mooin is asking, just a X271 wants us to consider a NI MIND to be 2Wwn since it can effect an AXMY MR, why
should we not consider carrying any n°r> of 7170 as a 21wn 727 (to be 21 for it), since this N°1> is 23Wwn that it causes
a 71 who eats it to receive mpon? [See (however) the X"w1nn who explains that M201n is discussing a case where he
threw a n°7 X1 into a Mw nN°3, where there was previously another n°7 °xi1 and together they are a n°r which makes the
first n°1 *%17 a 2w 127 for now there will be NPP» for a 71 who eats it. MDD answers that the 78X to a MAv n°2 does
not contribute to the M1 MR for they can be 7v¥n anywhere; however when he throws it into a Xt na then it is the
act of bringing it into the Xnv n°2, which causes the X1 MOX, together with the naw MoK, w"y.]
16 In a Xnv n7a the importance of this N°1> is because through this 7o%97 it will create the AR MOXR, therefore the
mawn of the nxm™W should transfer to the M2 wn of this N3 regarding Naw Mo°X; however the fact that generally one
who eats 7N receives Mpn, has nothing to do with this 73871 so why should it affect it!
17 naw pavs °x 17"7 nvon.
18 See "n YW naw on that Moo,
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